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SN BESXD
& 500 Ex3
2 1510 2DEX2ES
8 511 208E3S LD
SN2 Ol &k 24 B ol by HZE2
O=MMHAH 25 X8 4,500
O&IIRsSX B 32,000
O&Hze S 168,000
OOt =2 IIoH AL 18,750
O=2tRI| X& 73,843
OUEXZ AR 21 18,200
OAS ST T2 X & 303,365
SEVIEN L 500
OMHHS SR HET 827,893
OMENZZNY XY 2 84 50,000
511-02 XIFLHMSEIIHEES 571,251 668,083 A 96,832
Oosdtzg =24 39,000
OgdEmd 432,251
Og&8 IHt2=2 =4 100,000
511-03 712 31,500 31,500 0
O&dBEIAMESH X2 31,500
520 Al - SHIEXZS 802,174 923,415 A121,241
521 Al - SHIEX=S 802,174 923,415 A121,241
521-01 Al - SHIE XSS 802,174 923,415 A121,241
OXNEelE 23X H 30,000
OXNEHAS AZAXIYH 45,000
OgH =3AMY 15,000
OZAN=X 2 2,138
OYE Gtz =4 30,000
O4&tEHOI 201 A 2,400
OE= 45,085
O=Jt3J| 172,731
Os&z =4 11,700
Og T At 92,626
OEAEERM QMEIE X 4,350
ONSITHBC N 1,750
OMpiz2l BB 50,400
OOMMS S T 8H 0l 2 Ar el 5,625
OO =s2 malE4a X& 7,243
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